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1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #4 | #5 | #4 | #5|#a | #5 || Mean | Ns | EW
1 N [None 2HS2 110 3DE3 110 220 6 EW200 7 -3
2 E | NS 5DE-3 150 2SN-1 100 250 6 NS90 2 5
3 S | EW 4HW4 620 4HW-1 100 720 12 EW70 -11 -5
4 | W |Both 6DS6 1370 6CN6 1370 NS910 10 -10
5 N | NS 4SS5 650 3NN4 630 20 1 NS580 2 -2
6 E | EW 3CXS-2 300 4SW5 650 350 8 EW660 8
7 S |Both 1NES 210 3NES 660 450 10 EW470 6 5
8 | W [None 4SE5 450 4SE4 420 30 1 EW410 -1
9 N | EW 25W-1 100 3CSs-2 100 200 5 NS90 5
10 | E |Both 1NS-1 100 1NS1 90 190 5 NS60 -4 -1
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B# | DL | & 2R WEE ES A%EREA COP Datum
1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #2 | #15 | #2 [#15| #2 [#15|| Mean | Ns | EW
1| N |None|] 3DE3 110 3HS-3 150 | 40 1 EW200 | 3 -2
2 | E|Ns 4SN-3 300 4SN4 620 920 14 NS90 | -9 A1
3 s |Ew| 3NE- 100 4HXW-1 | 200 100 3 EW70 | 5 7
4 | w|(Both| 6cne | 1370 6DS6 1370 NS910 | 10 -10
5| N| NS 3NN3 600 4SS5 650 50 2 NS580 | 1 -2
6 | E|EW| 4cxs3 500 4SW5 650 | 150 4 EW660 | 4
7 | s [Both| 2DE4 130 1NE6 240 | 110 3 EW470 | 8 -6
8 | W [None| 4sEa 420 4SE4 420 EW410
9 | N|EW| 4HN2 100 2NN4 180 280 7 NS90 | 5 3
10| E |Both| 1Ns2 120 1NS-1 100 | 220 6 NS60 | 2 4
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¥l z9zmx [ NS | EW | 25z2% | NS | EW | #13 | #18 |#13|#18|#13]#18 || Mean | Ns EW
1 N |None 3DE4 130 3HS-3 150 20 1 EW200 2 -2
2 E NS 4CN5 150 3DE-1 50 100 3 NS90 2 1
3 S | EW 4HW-1 100 3HW4 170 270 7 EW70 5 3
4 W |Both 6CS-1 100 6NN6 1440 1540 17 NS910 -14 -11
5 N NS 3SS5 200 3NN3 600 400 9 NS580 -9 -1
6 E | EW 5SW5 650 5CXS-5 1100 | 450 10 EW660 10
7 S |Both 4CW7 190 1NE7 270 80 2 EWA470 7 -5
8 W |None| 4SE4 420 3SE4 170 250 6 EW410 -6
9 N | EW 2SW-1 100 3NS4 430 330 8 NS90 -8
10 E |Both 1NS1 920 1NS1 20 NS60 1 -1
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1
i tyze% | NS | EW | 2yzu% | NS | EW | #11 | #14 [#11]#14[#11[#14 || Mean | Ns EW
1 N |None| 3DE3 110 3CN-3 150 40 1 EW200 3 -2
2 E NS 3SN-1 100 2HE-3 150 250 6 NS90 -5 -2
3 S | EW 4HW-1 100 4HW-1 100 EW70 5 -5
4 W | Both 6NN6 1440 6CN6 1370 70 2 NS910 11 -10
5 N NS 4HS5 650 3NN4 630 20 1 NS580 2 -2
6 E EW 4SW5 650 4SW5 650 EW660
7 S [Both 3NW5 660 3NE7 720 60 2 EW470 -5 6
8 W |None 4SE4 420 4SE4 420 EW410
9 N | EW 3CS-1 50 2SW-1 100 150 4 NS90 -4
10 E |Both 1NS2 120 1NS1 90 30 1 NS60 2 -1
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B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
R txzux | NS | EW | 225 | NS | EW | #8 | #10 || #8 [#10] #8 [#10|] Mean NS EW
1 N |None 3NN-5 250 3NW3 400 150 4 EW200 -2 5
2 E NS 3DE-1 50 1NE-4 200 150 4 NS90 -1 -3
3 S | EW 3HW4 170 4HW4 620 450 10 EW70 -3 1
4 W | Both 6CN6 1370 7NXN-1 200 1570 17 NS910 10 15
5 N NS 3NN5 660 3NN3 600 60 2 NS580 2 -1
6 E EW 4SE5 650 5SW5 650 EW660
7 S |Both 1NE6 240 3NW4 630 390 9 EWA470 6 4
8 W |None 4SE5 450 4SE4 420 30 1 EW410 -1
9 N | EW 3CS-2 100 2CS2 90 190 5 NS90 -5
10 E |Both 1NS3 150 1NS2 120 30 1 NS60 3 -2
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B# | DL | & 2R M3 ES R A~ COP Datum
1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #6 | #7 | #6 | #7 |#6 | #7 || Mean | Ns EW
1| N |None|] 3DE3 110 3HS-3 150 | 40 1 EW200 | 3 -2
2 E NS 3DE-1 50 3DE-1 50 NS90 -1 1
3|s|Ew| 2Hwa 170 2NN-2 100 70 2 EW70 | -3 1
4 W |Both 7CXN-1 200 7CXN-1 200 NS910 -15 15
5| N| NS 1S5S4 170 4HS4 620 450 10 NS580 | -9 A
6 E | EW 4SW5 650 4SW5 650 EW660
7 | s [Both| sCW7 640 1NE5 210 430 10 EW470 | -5 -6
8 W |None| 4SE5 450 4SE5 450 EW410 -1 1
9 | N |EW| 3cs4 50 3NS4 430 480 10 NS90 | -4 -8
10 E |Both 1NS1 920 1NS1 20 NS60 1 -1
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¥l z9zmx [ NS | EW | 25z2% | NS | EW | #9 | #17 | #9 [#17] #9 [#17 || Mean | Ns EW
1 N [None 3Cs-2 100 4HXS-4 800 700 12 EW200 3 12
2 E NS 5CN5 600 4CN5 150 450 10 NS90 11 -2
3 S | EW 2HW4 170 4HW-1 100 270 7 EW70 -3 -5
4 W | Both 6DN6 1370 6NN6 1440 70 2 NS910 10 -1
5 N | NS 4SS5 650 3NS3 600 50 2 NS580 2 -1
6 E | EW 4SW5 650 4SE5 650 EW660
7 S |[Both 5CW7 640 3NE5 660 20 1 EWA470 -5 5
8 W |None 4SE4 420 4SE4 420 EW410
9 N | EW 2DE-1 100 1NS2 120 20 1 NS90 -1
10 | E |Both 1NS-1 100 1NS1 90 190 5 NS60 -4 -1
w3 IMP| 25 |15 14 | -4
e 9 Woods 17 W
* @ IMP 25 15
&3+ NP 25 15 »
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1
R R, NS | EW | £xz 23 NS | EW | #1 #3 | #1 | #3|#1 | #3 Mean NS EW
1 N |None 3CN-2 100 3NW3 400 300 7 EW200 3 5
2 E NS 3DE-1 50 2NS-1 100 150 4 NS90 -1 5
3 S | EW 3HW-1 100 4HW-1 100 EW70 5 -5
4 W |Both 6DN6 1370 3NN6 690 680 12 NS910 10 6
5 N | NS 4SS5 650 4SS4 620 30 1 NS580 2 -1
6 E | EW 4SW6 680 5CXS-4 800 120 3 EW660 -1 4
7 S |Both 2DE4 130 6CE7 1390 (| 1260 15 EWA470 8 14
8 W |None| 4SE4 420 4SE4 420 EW410
9 N | EW 3CS3 110 3SW-2 200 90 3 NS90 1 -3
10 | E |Both 1NS1 920 1NS1 20 NS60 1 -1
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1
R tyze% | NS | EW | 2yzu% | NS | EW | #12 | #16 |[#12[#16[#12[#16 || Mean | Ns EW
1 N |None| 2HS-1 50 4HXS-3 500 450 10 EW200 4 7
2 E NS 3DE-1 50 3DE-1 50 NS90 -1 1
3 S | EW 2HW3 140 3HW3 140 EW70 -2 2
4 W | Both 7CXN-1 200 6CS6 1370 1570 17 NS910 -15 -10
5 N NS 4HS5 650 4HS5 650 NS580 2 -2
6 E EW 5CXS-4 800 5SE5 650 150 4 EW660 -4
7 S [Both 1NEG6 240 5CW7 640 400 9 EW470 6 5
8 W |None 4SE4 420 4SE4 420 EW410
9 N | EW 1NS1 90 2SW-1 100 10 NS90
10 E |Both 1NS1 90 1NS1 90 NS60 1 -1
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£+ NP 19 21 ,
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
¥l z9zmx | NS | EW | 25z2% | NS | EW | #5 | #4 | #5| #4 | #5 | #4 || Mean | Ns EW
1 N |None| 3DE3 110 2HS2 110 220 6 EW200 3 -7
2 E NS 2SN-1 100 5DE-3 150 250 6 NS90 -5 -2
3 S | EW 4HW-1 100 4HW4 620 720 12 EW70 5 11
4 W | Both 6CN6 1370 6DS6 1370 NS910 10 -10
5 N NS 3NN4 630 4SS5 650 20 1 NS580 2 -2
6 E EW 4SW5 650 3CXS-2 300 350 8 EW660 -8
7 S [Both 3NE5 660 1NE5 210 450 10 EW470 -5 -6
8 W |None 4SE4 420 4SE5 450 30 1 EW410 1
9 N | EW 3CS-2 100 2SW-1 100 200 5 NS90 -5
10 E |Both 1NS1 90 1NS-1 100 190 5 NS60 1 4
@3t IMP| 18 | 36 6 | 19
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1
¥l z9zmx | NS | EW | 25z2% | NS | EW | #15 | #2 |#15] #2 |#15] #2 || Mean | Ns EW
1| N [None] 3HS-3 150 3DE3 110 40 1 EW200 | 2 -3
2| E| NS 4SN4 620 4SN-3 300 | 920 14 NS90 | 11 9
3| s |EW| aHxw-1 | 200 3NE-1 100 100 3 EW70 | 7 5
4 | W |Both| 6DS6 1370 6CN6 1370 NS910 | 10 10
5| N | NS 4SS5 650 3NN3 600 50 2 NS580 | 2 A
6| E|EW 4SW5 650 4CXS-3 500 150 4 EW660 -4
7 | S |Both 1NE6 240 2DE4 130 110 3 EW470 | 6 -8
8 | W |None|  4sEs4 420 4SE4 420 EW410
9| N|EW 2NN4 180 4HN-2 100 | 280 7 NS90 3 5
10 | E |Both| 1NS-1 100 1NS2 120 220 6 NS60 | -4 2
B3 IMP| 26 |14 37 | 19
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* B IMP 26 14
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1
R txzex | NS | EW | 25225 | NS | EW | #18 | #13 [#18[#13|#18[#13 || Mean NS EW
1 N |None 3HS-3 150 3DE4 130 20 1 EW200 2 -2
2 E NS 3DE-1 50 4CN5 150 100 3 NS90 -1 -2
3 S | EW 3HW4 170 4HW-1 100 270 7 EW70 -3 -5
4 W |Both 6NN6 1440 6CS-1 100 1540 17 NS910 11 14
5 N NS 3NN3 600 3SS5 200 400 9 NS580 1 9
6 E | EW 5CXS-5 1100 58W5 650 450 10 EW660 -10
7 S |Both 1NE7 270 4CW7 190 80 2 EWA470 5 -7
8 W |None| 3SE4 170 4SE4 420 250 6 EW410 6
9 N | EW 3NS4 430 2SW-1 100 330 8 NS90 8
10 E |Both 1NS1 920 1NS1 20 NS60 1 -1
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1
i t¥z2% | NS | EW | 243223 | NS | EW | #14 | #11 [#14]#11|#14[#11|] Mean | Ns EW
1 N |None 3CN-3 150 3DE3 110 40 1 EW200 2 -3
2 E NS 2HE-3 150 3SN-1 100 250 6 NS90 2 5
3 S | EW 4HW-1 100 4HW-1 100 EW70 5 -5
4 W |Both 6CN6 1370 6NN6 1440 70 2 NS910 10 -11
5 N NS 3NN4 630 4HS5 650 20 1 NS580 2 -2
6 E | EW 4SW5 650 4SW5 650 EW660
7 S |Both 3NE7 720 3NW5 660 60 2 EWA470 -6 5
8 W |None| 4SE4 420 4SE4 420 EW410
9 N | EW 2SW-1 100 3CS-1 50 150 4 NS90 4
10 E |Both 1NS1 920 1NS2 120 30 1 NS60 1 -2
@3+ IMP|10 | 7 16 | -9
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&3+ IMP 10 7 \
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1
R £Hz2% | NS | EW | 2x%223% | NS | EW | #10 | #8 |[#10] #8 |#10] #8 Mean NS EW
1 N |None 3NW3 400 3NN-5 250 150 4 EW200 -5 2
2 E NS 1NE-4 200 3DE-1 50 150 4 NS90 3 1
3 S | EW 4HW4 620 3HW4 170 450 10 EW70 -11 3
4 W | Both 7NXN-1 200 6CN6 1370 1570 17 NS910 -15 -10
5 N NS 3NN3 600 3NN5 660 60 2 NS580 1 -2
6 E EW 5SW5 650 4SE5 650 EW660
7 S |Both 3NW4 630 1NE6 240 390 9 EWA470 -4 -6
8 W |None 4SE4 420 4SE5 450 30 1 EW410 1
9 N | EW 2CS2 90 3CS-2 100 190 5 NS90 5
10 E |Both 1NS2 120 1NS3 150 30 1 NS60 2 -3
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
" 25zzs | Ns [ EW | tnzus | Ns | EW | #7 | #6 | #7] #6 | #7 | #6 || Mean | Ns | EW
1 | N |None| 3Hs-3 150 3DE3 110 40 1 EW200 | 2 -3
2| E|Ns| 3DEA 50 3DE-1 50 NS90 | -1 1
3| s |EW| 2NN-2 100 2HW4 170 | 70 2 EW70 | -1 3
4 | W |Both| 7CXN-1 200 | 7CXN-1 200 NS910 | 15 | 15
5| N|Ns 4HS4 620 1ss4 170 450 10 NS580 | 1 9
6 | E|EW| 4sws 650 4SW5 650 EW660
7 | S |Both| 1NE5 210 5CW7 640 | 430 10 EW470 | 6 5
8 | W [None|  4SE5 450 4SE5 450 EW410 | -1 1
9 | N|EW| 3Ns4 430 3Cs-1 50 | 480 10 NS90 | 8 4
10 | E |Both|  1Ns1 90 1NS1 90 NS60 | 1 -
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R t¥z2% | NS | EW | 2x%3223% | NS | EW | #17 | #9 [#17] #9 [#17] #9 || Mean | Ns EW
1 N |None| 4HXS-4 800 3CS-2 100 700 12 EW200 -12 -3
2 E NS 4CN5 150 5CN5 600 450 10 NS90 2 -11
3 S | EW 4HW-1 100 2HW4 170 270 7 EW70 5 3
4 W | Both 6NN6 1440 6DN6 1370 70 2 NS910 11 -10
5 N NS 3NS3 600 4SS5 650 50 2 NS580 1 -2
6 E EW 4SE5 650 4SW5 650 EW660
7 S [Both 3NE5 660 5CW7 640 20 1 EW470 -5 5
8 W |None 4SE4 420 4SE4 420 EW410
9 N | EW 1NS2 120 2DE-1 100 20 1 NS90 1
10 E |Both 1NS1 90 1NS-1 100 190 5 NS60 1 4
@3t IMP[15 |25 4 | 14
T S 17 32w 9 Woods
* B IMP 15 25
£+ NP 15 25 0
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R tHz2% | NS | EW | 2x%223% | NS | EW | #3 | #1 | #3[#1|#3[# Mean | NS EW
1 N |None| 3NW3 400 3CN-2 100 300 7 EW200 -5 -3
2 E NS 2NS-1 100 3DE-1 50 150 4 NS90 -5 1
3 S | EW 4HW-1 100 3HW-1 100 EW70 5 -5
4 W | Both 3NN6 690 6DN6 1370 680 12 NS910 -6 -10
5 N NS 4SS4 620 4SS5 650 30 1 NS580 1 -2
6 E EW 5CXS-4 800 4SW6 680 120 3 EW660 -4 1
7 S [Both 6CE7 1390 2DE4 130 1260 15 EW470 -14 -8
8 W |None 4SE4 420 4SE4 420 EW410
9 N | EW 3SW-2 200 3CS3 110 90 3 NS90 3 -1
10 E |Both 1NS1 90 1NS1 90 NS60 1 -1
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1
bl H22% | NS | EW | %225 | NS | EW | #16 | #12 |[#16]#12#16|#12 || Mean | Ns EW
1 N |None| 4HXS-3 500 2HS-1 50 450 10 EW200 -7 -4
2 E NS 3DE-1 50 3DE-1 50 NS90 -1 1
3 S | EW 3HW3 140 2HW3 140 EW70 -2 2
4 W | Both 6CS6 1370 7CXN-1 200 1570 17 NS910 10 15
5 N NS 4HS5 650 4HS5 650 NS580 2 -2
6 E EW 5SE5 650 5CXS-4 800 150 4 EW660 4
7 S [Both 5CW7 640 1NEG6 240 400 9 EW470 -5 -6
8 W |None 4SE4 420 4SE4 420 EW410
9 N | EW 2SW-1 100 1NS1 20 10 NS90
10 E |Both 1NS1 90 1NS1 90 NS60 1 -1
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